(—2.8) X (=14) + (-2.8) x (+19)

® 12 @ 125 ® 13 @ 135




D (~1)2 +6x(-2)3 =1+ 6x (-8)

=1+ (-48)
= —47
@ (-6)x (-2)2+3 =(-6)x4+3
=-24+3
=21
® (-3)2x (-2)> + (-6) =9 x (-8) + (-6)
= (=72) + (-6)
=78
@ 12-(-4)?x(-1) =12-{-(16) x 1}
=12 - (~16)
=12+16
=28
® (-4) =23+ (-3)3 = (-4) -8+ (-27)
= (—4) + (-8) + (-27)
=—(4+8+27)
=-39

S =78 < —47< -39 < -21 <28
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p=-8-6=-14,g=-3+4=1

L 1l4x1=14




3o

=

stol Wiy 1 A3t

ool —




13. 4.679 x 528 + 4.679 x 472 = HF2A| A4S AL9

@® 467.9 @ 1000 ® 2680 @4679 ® 6000

~&B

4.679 X 528 + 4.679 x 472
= 4.679 x (528 + 472)

= 4.679 x 1000

= 4679
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